 when you output an integer in Ada, it uses a default width

ada.integer_text_io.put (6);    

ada.integer_text_io.put (item => 6);   -- this statement is identical to the statement above9

alternatively, you can control the number of spaces it uses

ada.integer_text_io.put (item => 6, width => 5);

=>  is called an arrow  in Ada

<>  is called a box  in Ada

The ada String type is declared as an unconstrained array of characters;

Type string is  array <> of character;

MyName : string[1..5];

